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UNIVERSITY OF NORTH BENGAL

B.A. Programme 2nd Semester Examination, 2019

DSC2-PHILOSOPHY
Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word. limit as practicable.
All symbols are of usual significance.

SECTION-I / es-5 ) wve -&

[ Answer any four questions from the following: 3x4 =12
Safeie - 5iFfe eves Teawies
(a) What do you mean by copula? What is the function of copula? 142

FREAEE 00 & @RI 9 TR e [ 9
TSP T D GHEES ? AR P B E ?
(b) Obvert the following:
ke IR e fm Rafee w wes
(i) Roses are red.
Gl = #ie
TETHES T B |
(ii) Only children are happy.
sy e 33
P RGeS gl o7 |
(c) Distinguish between mediate and immediate inference. 3
TG G SN SR W A s |
AT AfY SFIETH AN AT T Sersae |
(d) Distinguish between ‘mood’ and ‘figure’. 3
TS R IR Wy Ay (e
HT X G A= e e |
{e) When an argument is valid? 3
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(f) What are the two senses of ‘or’? 3
SRR e o o [ & 9
AT BT FEACT TGS B B G ©

SECTION-II / fReie-4 / Tve-w
2. Answer any four questions from the fblloWing: 6x4 =24
waRRe @-F o1l et T wies
fisue TeEeTd Y IRICTH IR ATISY ¢
(a) What do you mean by ‘distribution of terms’? What term/terms are 2+4

distributed /undistributed in ‘A’, ‘E’, ‘I’ and ‘O’ propositions?
AR AT TS & @RI 2 ‘A, B, T @R “O’-I6CR (I 247 Gi#1) / Srgi=ly Scar

41
TE-RoRer W B EEE™ ° ‘A, B, T I ‘O’ diisiiaesHr B
g /UgEw [oaiNe / SAfaie B9 ?
(b) Explain ‘Contrary’ and ‘Contradictory’ opposition of propositions with example. 3+3
Reifie ez R Reaifdo! Srimgete i 9401
i e wfefasse wRmEReT arem ey |
(c) Explain in brief the fallacy of Illicit Minor and Illicit Major with examples. 3+3

FRTFC SR PRI Gk SIY TGRS BRIgResTR il 1
Y YR T Iy ARIEITH! WSV W e THE |

(d) Determine the validity or invalidity of the following arguments with the help of- 3+3
Venn diagram:

(BT R RS YR (el e el Kol s
J-Rraie) FerarERT FefoRan doewe duan 3 ordeer PRI THEq |
(i) EAO 4th Figure
EAO- 594 3Ew
EAO —4th Figure
(i) OAO 2nd Figure.
OAQO- fa8ig g\
OAO -2nd Figure.
(e) What is ‘Conversion’? Why conversion of ‘O’ proposition is not possible? 2+4
RE BT I 7 4O’ IBTHR WIS 7Y 7 (F ¢
IRt B 8 ? 0 uRefkaer sreE wwig B9 7
(f) Distinguish between Deductive and Inductive arguments with example. 6
BRI SRR @ ST SCE W e (e |
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SECTION-III / [ete-9t / o1

Answer any fwo questions from the following 12%2 =24
fmfeide - 7/ eoia Seawie
3. Determine the validity or invalidity of the following argument/argument forms 3Ix4=12

with the help of syllogistic rules:
Teeers SR e Sepi WafiRe 3 / JE-amies @eet / siags! Rok a3
PRt fSmer weraer R RgUe! @@ I qo-Jueee! du < s e
TR |
(a) Shyam is mortal because he is a man.
IS e, TR (7 WA
M AR B v § A1 81
(b) He must be happy for he is honest.
7 SRS 7 (AR (1 e |
FAFER UPIe T gl §EI0 |
(c) AAlin 1stFigure
AAT &I I
AAIL -99 & 8 |
(d) AIE in 3rd Figure.
AIE-98R EW|
ATE-T9il e &7 |

4. Use Truth table to determine the validity or invalidity of the following arguments: 3x4 =12

Ho)-AHR Al PR el e / stage! [oi 4
REUF! aswn T a7 T et We—RET FET e —

(@ ~Ao>~B
~BoC/ " ~(A-~0)

() M> (N -0)

 ~M /. ~(N-0O)

(©) poq
q/fnp

(d) Either Ramesh is a doctor or a teacher. He is not a doctor, therefore, he is a
teacher.
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5. What is existential import of proposition? Does all standard form of categorical 2+10
propositions have existential import? Explain with examples.

Ww@mﬁmﬂwﬁs@wamﬁ«%wwﬁwmﬁw
% o TnizgelTe N T

T sRawEE AR B B 2 B 6 A Suee®] AR qead
§5 ? SISV \iEd IRl THEN |

6. What is an analogical argument? What are the different criteria in the appraisal of 2+10
analogical argument?

ST 3 TS e QRN ¢ S 3o Feuiae Ao el & & 2
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